itions and subtractions,
these addi
d complete

COPY an

4 . 0O 25-50=:
0=
Q 827+3
G © 543+60=]
€ 863-40=
O 361-80=]
© 747+80=]
653 +70 =[]
0 63-70=] ©
s -90=
B[] . ™ © 666-90=[]

Solve this problem. E

i

O There are 254 occupied seats on a train. At the

next stop 60 people get off. How many people
remain on the train?

@ Complete these additions:

232420 343 4+ 30 454 + 40

Write the next four additions in the Se‘l‘_‘e,":e' ;
Ot pattern do You notice in the 10s digit®
By §80 you SPot any other patterns?

R

Tam Cﬁnﬁ :
multiples 0??(: :“'th Cddin

9 and subtracting

-

silver



